

Research Article

On the Fekete-Szegö Inequalities of the Generalized Mittag-Leffler Function Associated with a Lambert Series

Jamal Salah 

College of Applied and Health Sciences, A'Sharqiyah University, Post Box No. 42, Post Code No. 400 Ibra, Sultanate of Oman
E-mail: damous73@yahoo.com

Received: 9 May 2024; **Revised:** 17 June 2024; **Accepted:** 17 June 2024

Abstract: This study aims to investigate the Fekete-Szegö problem for the linear operator generated by the convolution (the Hadamard product) involving one of the generalized forms of the Mittag-Leffler function and the well-known Lambert series. The findings will mainly apply on some subclasses of starlike and convex functions.

Keywords: fekete-szegö problem, mittag-leffler function, hadamard product, linear operator, lambert series, starlike and convex functions

MSC: 30C45, 30C50, 00A27

1. Introduction

The Mittag-Leffler function $E_\alpha(z)$ for $\alpha \in \mathbb{C}$, with $\Re(\alpha > 0)$ ([1] and [2]) is defined as;

$$E_\alpha(z) := \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}, \quad z \in \mathbb{C}$$

The extended form of the Mittag-Leffler function that depends on two parameters was studied by Wiman [3]. For all $\alpha, \beta \in \mathbb{C}$, with $\Re(\alpha, \beta > 0)$, the two-parameters function $E_{\alpha, \beta}(z)$ is defined as;

$$E_{\alpha, \beta}(z) := \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \quad z \in \mathbb{C}.$$

Generally, The Mittag-Leffler function and its generalizations have been considered by many researchers (see for instance [4]). In here, we limit our focus to the generalization given by Salah and Darus [5] as follows:

$$qF_{\alpha, \beta}^{\theta, k} = \sum_{n=0}^{\infty} \prod_{j=1}^q \frac{(\theta_j)_{k_{jn}}}{(\beta_j)_{\alpha_{jn}}} \cdot \frac{z^n}{n!}, \quad (1)$$

where $(\theta)_v$ refers to the well-known Pochhammer symbol given by:

$$(\theta)_v := \frac{\Gamma(\theta + v)}{\Gamma(\theta)} = \begin{cases} 1, & \text{if } v = 0, \theta \in \mathbb{C} \setminus \{0\} \\ \theta(\theta + 1) \dots (\theta + v - 1), & \text{if } v = n \in \mathcal{N}, \theta \in \mathbb{C}, \end{cases}$$

$$(1)_n = n!, n \in \mathcal{N}_0, \mathcal{N}_0 = \mathcal{N} \cup \{0\}, \mathcal{N} = \{1, 2, 3, \dots\},$$

and

$$(q \in \mathcal{N}, j = 1, 2, 3, \dots, q; \operatorname{Re}\{\theta_j, \beta_j\} > 0, \text{ and } \operatorname{Re}\alpha_j > \max\{0, \operatorname{Re}k_j - 1; \operatorname{Re}k_j\}; \operatorname{Re}k_j > 0).$$

The Lambert series (see [6–9]), is widely considered in certain problems of the number theory due to its connection to the well-known arithmetic functions such as:

$$\sum_{n=1}^{\infty} \sigma_0(n)x^n = \sum_{n=1}^{\infty} \frac{x^n}{1-x^n}, \quad (2)$$

where $\sigma_0(n) = d(n)$ is the number of positive divisors of n .

$$l(z) = \sum_{n=1}^{\infty} \sigma_{\alpha}(n)x^n = \sum_{n=1}^{\infty} \frac{n^{\alpha}x^n}{1-x^n}, \quad (3)$$

where $\sigma_{\alpha}(n)$ is the higher-order sum of divisors function of n .

We limit our study to the series provided by (3). More specifically, we write $\sigma_1(n) = \sigma(n)$ when $\alpha = 1$. In this case $\sigma(n)$ is the sum of divisors function that is potentially found in one of the straightforward equivalent statements to the widely recognized Riemann hypothesis.

We first distinguish between the Lambert series and Lambert W function, which naturally arises in the resolution of numerous scientific and engineering problems [10].

Guy Robin [11] demonstrated in 1984 that

$$\sigma(n) < e^{\gamma}n \log \log n + \frac{0.6483n}{\log \log n}, n \geq 3 \quad (4)$$

Additionally, he proved that the Riemann hypothesis is equivalent to

$$\sigma(n) < e^\gamma n \log(\log n), \quad n > 5040, \quad (5)$$

here $\gamma = 0.7721 \dots$, refers to the Euler-Mascheroni constant.

The Riemann hypothesis and the Robin's inequality (5) are not attempted to be proven or disproved in this article. We recommend interested readers to study the papers mentioned in the references [12–16] for further information.

2. Main results

We recall the class \mathcal{A} of analytic functions given by;

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad z \in \mathcal{U}, \quad (6)$$

where \mathcal{U} is the open unit disk $\mathcal{U} := \{z \in \mathbb{C} : |z| < 1\}$. These functions are normalized by the constraints $f(0) = f'(0) - 1 = 0$. The subclass of univalent functions in \mathcal{U} , is denoted by S . We also, recall Ω , the class of all analytic functions, w in \mathcal{U} that satisfy the conditions of $w(0) = 0$ and $|w(z)| < 1$.

Robertson [17], introduced the starlike and the convex subclasses of S as follows:

A function $f \in \mathcal{A}$ given by (6) is said to be a starlike if and only if

$$\Re \left(\frac{z f'(z)}{f(z)} \right) > 0, \quad z \in \mathcal{U}.$$

A function $f \in \mathcal{A}$ given by (6) is said to be convex if and only if

$$\Re \left(1 + \frac{z f''(z)}{f'(z)} \right) > 0, \quad z \in \mathcal{U}$$

The above two classes are denoted by S^* and K respectively and they are connected by the Alexander's duality relation [18]

$$f \in K \Leftrightarrow z f'(z) \in S^*.$$

In general, given $0 \leq \gamma < 1$, we obtain the following generalizations;

A function $f \in \mathcal{A}$ given by (6) is said to be a starlike of order γ , if and only if

$$\Re \left(\frac{z f'(z)}{f(z)} \right) > \gamma, \quad z \in \mathcal{U}.$$

A function $f \in \mathcal{A}$ given by (1) is said to be the convex of order γ , $0 \leq \gamma < 1$, if and only if

$$\Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > \gamma, z \in \mathcal{U}.$$

The last two subclasses are denoted by $S^*(\gamma)$ and $K(\gamma)$ respectively.

In particular, $S^*(0) = S^*$ and $K(0) = K$.

The Fekete-Szegő theorem [19] states that for a function f of the form (6), the following sharp inequality holds

$$|a_3 - \mu a_2^2| \leq 1 + 2 \exp \left(\frac{-2\mu}{1-\mu} \right), 0 \leq \mu < 1.$$

For two functions f, g of the form (6), the Hadamard product $(*)$ is given by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n.$$

Now, since $qF_{\alpha, \beta}^{\theta, k}$ does not belong to the class \mathcal{A} , we consider some normalization by introducing:

$$q\mathbb{F}_{\alpha, \beta}^{\theta, k} = \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j}}{(\alpha_j)_{k_j}} \left(qF_{\alpha, \beta}^{\theta, k} - 1 \right) = z + \sum_{n=2}^{\infty} \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j}}{(\alpha_j)_{k_j}} \frac{(\theta_j)_{k_j n}}{(\beta_j)_{\alpha_j n}} \cdot \frac{z^n}{n!} \quad (7)$$

Let $f(z) \in \mathcal{A}$. Denote $q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) : \mathcal{A} \rightarrow \mathcal{A}$ the linear operator is defined by;

$$q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) = q\mathbb{F}_{\alpha, \beta}^{\theta, k} * I(z),$$

by the Hadamard product the latter becomes

$$q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) = z + \sum_{n=2}^{\infty} \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j}}{(\alpha_j)_{k_j}} \frac{(\theta_j)_{k_j n}}{(\beta_j)_{\alpha_j n}} \cdot \frac{\sigma(n)}{n!} a_n z^n. \quad (8)$$

Definition 1 Let $f(z) \in \mathcal{A}$. Then $f(z) \in qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$ if and only if

$$\Re \left\{ \frac{z \left[q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right]}{q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)} \right\} > \lambda, 0 \leq \lambda < 1, z \in \mathcal{U}.$$

Definition 2 Let $f(z) \in \mathcal{A}$. Then $f(z) \in q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$ if and only if

$$\mathcal{R} \left\{ \frac{\left[z \left(q_{\alpha, \beta, \sigma}^{\mathbb{F}\theta, k}(f)(z) \right)' \right]'}{\left(q_{\alpha, \beta, \sigma}^{\mathbb{F}\theta, k}(f)(z) \right)' } \right\} > \lambda, \quad 0 \leq \lambda < 1, \quad z \in \mathcal{U}.$$

Next, we study the general characteristics and the distortion theorems for the function $f(z) \in \mathcal{A}$ that is a member of the new subclasses $qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$ and $q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$, provided that the coefficient bounds are obtained. In order to compute the sharp upper bounds of a_2 and the Fekete-Szegő inequality, we need the following Lemma (Duren [20]).

Lemma 1 Given that $h(z) = 1 + \sum_{n=1}^{\infty} h_n z^n \in \mathcal{P}$, such that $h(z)$ is analytic in \mathcal{U} , and \mathcal{P} is the class of all analytic functions with a positive real part. Then

- i. $\left| h_2 - \frac{h_1^2}{2} \right| \leq 2 - \frac{|h_1|^2}{2}$,
- ii. $|h_n| \leq 2, n \in \mathbb{N}$.

Theorem 1 Let $f(z) \in \mathcal{A}$. If

$$\sum_{n=2}^{\infty} (n - \lambda) |a_n| \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j}}{(\alpha_j)_{k_j}} \frac{(\theta_j)_{k_j n}}{(\beta_j)_{\alpha_j n}} \cdot \frac{\sigma(n)}{n!} \leq 1 - \lambda, \quad 0 \leq \lambda < 1, \quad (9)$$

Then $f(z) \in qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. The result (9) is sharp.

Proof. For short hand we write $\phi = \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j}}{(\alpha_j)_{k_j}} \frac{(\theta_j)_{k_j n}}{(\beta_j)_{\alpha_j n}} \cdot \frac{\sigma(n)}{n!}$. Let (9) hold true. Since

$$\begin{aligned} 1 - \lambda &\geq \sum_{n=2}^{\infty} (n - \lambda) |a_n| \cdot \phi \\ &\geq \sum_{n=2}^{\infty} \lambda |a_n| \phi - \sum_{n=2}^{\infty} n |a_n| \phi, \end{aligned}$$

that is

$$\frac{1 + \sum_{n=2}^{\infty} n |a_n| \phi}{1 + \sum_{n=2}^{\infty} |a_n| \phi} > \lambda.$$

Hence

$$\mathcal{R} \left\{ \frac{\left\{ q_{\alpha, \beta, \sigma}^{\mathbb{F}\theta, k}(f)(z) \right\}' }{q_{\alpha, \beta, \sigma}^{\mathbb{F}\theta, k}(f)(z)} \right\} > \lambda.$$

The inequality (9) is sharp and the equality holds at the extremal function given by

$$f(z) = z + \sum_{n=2}^{\infty} \frac{(1-\lambda)}{(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}} \frac{n!}{\sigma(n)} z^n.$$

□

Corollary 1 If $f(z) \in qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. Then

$$|a_n| \leq \frac{(1-\lambda)}{(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}} \frac{n!}{\sigma(n)}, \quad n \geq 2.$$

By utilizing the inequality (4), we write

$$\frac{1}{\sigma(n)} > \frac{\log \log n}{e^{\gamma n (\log \log n)^2 + 0.6483n}}, \quad n \geq 3,$$

we derive the following lower bounds inequality.

Corollary 2 If $f(z) \in qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. Then

$$|a_n| > \frac{(1-\lambda)}{(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}} \frac{(n-1)! \log \log n}{e^{\gamma (\log \log n)^2 + 0.6483n}}, \quad n \geq 3.$$

Similarly, if we assume the Robin's inequality (5), we deduce

Corollary 3 If $f(z) \in qS_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$, and the Robin's inequality (5) holds true. Then

$$|a_n| > \frac{(1-\lambda)}{(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}} \cdot \frac{(n-1)!}{e^{\gamma \log \log n}}, \quad n > 5040.$$

Using the same method of Theorem 1, we can verify the following result:

Theorem 2 Let $f(z) \in \mathcal{A}$. If

$$\sum_{n=2}^{\infty} n(n-\lambda) |a_n| \prod_{j=1}^q \frac{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}}{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}} \cdot \frac{\sigma(n)}{n!} \leq 1 - \lambda, \quad 0 \leq \lambda < 1 \quad (10)$$

Then $f(z) \in q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. The result (10) is sharp.

Corollary 4 If $f(z) \in q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. Then

$$|a_n| \leq \frac{(1-\lambda)}{(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_{jn}}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_{jn}}} \frac{(n-1)!}{\sigma(n)}, \quad n \geq 2.$$

Corollary 5 If $f(z) \in q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$. Then

$$|a_n| > \frac{(1-\lambda)}{n(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_j n}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_j n}} \frac{(n-1)! \log \log n}{e^{\gamma(\log \log n)^2 + 0.6483}}, \quad n \geq 3.$$

Corollary 6 If $f(z) \in q\mathcal{S}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$, and the Robin's inequality (5) holds true. Then

$$|a_n| > \frac{(1-\lambda)}{n(n-\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{\alpha_j n}}{(\beta_j)_{\alpha_j} (\theta_j)_{k_j n}} \cdot \frac{(n-1)!}{e^{\gamma \log \log n}}, \quad n > 5040.$$

Definition 3 Let $\xi(z)$ be univalent starlike function with respect to 1 which maps the unit disk \mathcal{U} onto a region in the right half plane which is symmetric about the real axis, $\xi(0) = 1$ and $\xi'(0) > 0$. An analytic function $f(z)$ is in the class $q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(\xi)$ if

$$\frac{z \left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)'}{q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)} \prec \xi(z). \quad (11)$$

Lemma 2 (see [21]) Let $h_1(z) = 1 + c_1 z + c_2 z^2 + c_3 z^3 + \dots$ be an analytic function with positive real part in \mathcal{U} . Then

$$|c_2 - \nu c_1^2| \leq 2 \max\{1, |\nu - 1|\}, \quad (12)$$

and the result is sharp for the functions given by

$$h(z) = \frac{1+z}{1-z}, \quad h(z) = \frac{1+z^2}{1-z^2}. \quad (13)$$

Theorem 3 Let the conditions of Theorem 1 be satisfied. Then

$$|a_2| \leq \frac{4(1-\lambda)}{3(1+\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}}, \quad 0 \leq \lambda < 1,$$

and for every $\mu \in \mathbb{C}$ the following inequality is sharp

$$|a_3 - \mu a_2^2| \leq \frac{1-\lambda}{(2+\lambda)B} \max \left\{ 1, \left| B_2 + \frac{1-\lambda}{1+\lambda} B_1^2 - \mu \mu \frac{(1-\lambda)(2+\lambda)B}{(1+\lambda)^2 A^2} B_1^2 \right| \right\}$$

Proof. Since $f(z) \in q\mathcal{S}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$ then the condition

$$\Re \left\{ z \frac{[q_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)]'}{q_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)} \right\} > \lambda, \quad 0 \leq \lambda < 1, \quad z \in \mathcal{U},$$

is equivalent to

$$z [q_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)]' = (1 - \lambda)h(z)q_{\alpha, \beta, \sigma}^{\theta, k}(f)(z), \quad z \in \mathcal{U},$$

for a given function $h \in \mathcal{P}$. We equate the coefficients, and we obtain the values of

$$a_2 = \frac{(1 - \lambda)h_1}{(1 + \lambda)A} \quad (14)$$

and

$$a_3 = \frac{1 - \lambda}{(2 + \lambda)B} \left(\frac{1 - \lambda}{1 + \lambda} h_1^2 + h_2 \right). \quad (15)$$

By using equation (14) and Lemma 1, we achieve the required result of $|a_2|$

$$|a_2| \leq \frac{4(1 - \lambda)}{3(1 + \lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}}.$$

Where

$$A = \frac{2}{3} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}} \quad \text{and} \quad B = \frac{3}{2} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{3\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{3k_j}}. \quad (16)$$

For the Fekete-Szegő function $|a_3 - \mu a_2^2|$, consider $\xi(z) = 1 + B_1z + B_2z^2 + \dots$ if $f(z) \in q_{\alpha, \beta, \sigma}^{\theta, k}(\xi)$, then

$$h(z) = \xi \left(\frac{h_1(z) - 1}{h_1(z) + 1} \right). \quad (17)$$

Since $\xi(z)$ is univalent and $h(z) \prec \xi(z)$, then the function below, is analytic and has a positive real part in \mathcal{U} .

$$h_1(z) = \frac{1 + \xi^{-1}(h(z))}{1 - \xi^{-1}(h(z))} = 1 + c_1z + c_2z^2 + \dots \quad (18)$$

Next, by the means of (17) and (18) we find the values of $h_1(z)$ and $h_2(z)$

$$h_1(z) = \frac{1}{2}B_1c_1,$$

and

$$h_2(z) = \frac{1}{2} \left(c_2 - \frac{1}{2}c_1^2 \right) + \frac{1}{4}B_2c_1^2,$$

so, by using Lemma 2 we find that

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{2(1-\lambda)}{(2+\lambda)B} + \left\{ \frac{(1-\lambda)^2}{(1+\lambda)(2+\lambda)} - \mu \frac{(1-\lambda)^2}{(1+\lambda)^2A^2} \right\} |h_1|^2 \\ &\leq W(x) = \frac{2(1-\lambda)}{(2+\lambda)B} + \left\{ K - \frac{(1-\lambda)}{2(2+\lambda)B} \right\} x^2, \quad x := |h_1|^2. \end{aligned} \tag{19}$$

Consequently, we deduce

$$|a_3 - \mu a_2^2| \leq \begin{cases} W(0) = \frac{2(1-\lambda)}{(2+\lambda)B} & \text{if } K \leq \frac{(1-\lambda)}{2(2+\lambda)B} \\ W(2) = 4K & \text{if } K > \frac{(1-\lambda)}{2(2+\lambda)B}, \end{cases}$$

where

$$K := \frac{(1-\lambda)}{2(2+\lambda)B} + \frac{(1-\lambda)^2}{(1+\lambda)(2+\lambda)} - \mu \frac{(1-\lambda)^2}{(1+\lambda)^2A^2}.$$

The equality is reached by the functions satisfying;

$$\begin{aligned} z \frac{[q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)]'}{q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)} &= \frac{1+z(1-2\lambda)}{1-z} \\ z \frac{[q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)]'}{q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z)} &= \frac{1+z^2(1-2\lambda)}{1-z^2}. \end{aligned}$$

We also have

$$a_3 - \mu a_2^2 = \frac{(1-\lambda)}{2(2+\lambda)B} (c_2 - \nu c_1^2), \quad (20)$$

The values of A and B are given in (16), and the value of ν is given by

$$\nu = \frac{1}{2} \left(1 - B_2 - \frac{1-\lambda}{1+\lambda} B_1^2 + \mu \frac{(1-\lambda)(2+\lambda)B}{(1+\lambda)^2 A^2} B_1^2 \right),$$

Thus, the result is proved by Lemma 2. □

Corollary 7 Under the assumption of Theorem 3, if $\lambda = 0$, then

$$|a_2| \leq \frac{4}{3} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}}, \quad 0 \leq \lambda < 1,$$

and for all $\mu \in \mathbb{C}$

$$|a_3 - \mu a_2^2| \leq \frac{1}{2B} \max \left\{ 1, \left| B_2 + B_1^2 - \mu \frac{2B}{A^2} B_1^2 \right| \right\}.$$

Next, we prove the result for the class $q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$.

Theorem 4 If the conditions of Theorem 2 are satisfied, then

$$|a_2| \leq \frac{2(1-\lambda)}{3(1+\lambda)} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}}, \quad 0 \leq \lambda < 1,$$

and for every $\mu \in \mathbb{C}$ the following inequality is sharp

$$|a_3 - \mu a_2^2| \leq \frac{1-\lambda}{3(2+\lambda)B} \max \left\{ 1, \left| B_2 + \frac{1-\lambda}{1+\lambda} B_1^2 - \mu \frac{3(1-\lambda)(2+\lambda)B}{2(1+\lambda)^2 A^2} B_1^2 \right| \right\}.$$

Proof. Since $f \in q\mathcal{C}_{\alpha, \beta, \sigma}^{\theta, k}(\lambda)$ then the condition

$$\Re \left\{ \frac{\left[z \left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)' \right]'}{\left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)' } \right\} > \lambda, \quad 0 \leq \lambda < 1,$$

is equivalent to

$$\left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)' + \left[z \left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)' \right]' = (1 - \lambda)h(z) \left(q\mathbb{F}_{\alpha, \beta, \sigma}^{\theta, k}(f)(z) \right)',$$

for a given function of positive real part, $h \in \mathcal{P}$. By equating the coefficients, we obtain

$$a_2 = \frac{(1 - \lambda)h_1}{2(1 + \lambda)A}, \quad (21)$$

and

$$a_3 = \frac{1 - \lambda}{3(2 + \lambda)B} \left(\frac{1 - \lambda}{1 + \lambda} h_1^2 + h_2 \right) \quad (22)$$

Therefore, from (21) and Lemma 1, the result of $|a_2|$ is obtained.

In addition, we conclude the following;

$$a_3 - \mu a_2^2 = \frac{1 - \lambda}{6(2 + \lambda)B} (c_2 - \nu c_1^2), \quad (23)$$

Again, the values of A and B are given in (16), and the value of ν here is given by

$$\nu = \frac{1}{2} \left(1 - B_2 - \frac{1 - \lambda}{1 + \lambda} B_1^2 + \mu \frac{3(1 - \lambda)(2 + \lambda)B}{2(1 + \lambda)^2 A^2} B_1^2 \right),$$

the result then, is proved by using Lemma 2. □

Corollary 8 Under the assumption of Theorem 4, if $\lambda = 0$, then

$$|a_2| \leq \frac{2}{3} \prod_{j=1}^q \frac{(\alpha_j)_{k_j} (\beta_j)_{2\alpha_j}}{(\beta_j)_{\alpha_j} (\theta_j)_{2k_j}}, \quad 0 \leq \lambda < 1,$$

and for all $\mu \in \mathbb{C}$.

$$|a_3 - \mu a_2^2| \leq \frac{1}{6B} \max \left\{ 1, \left| B_2 + B_1^2 - \mu \frac{2B}{A^2} B_1^2 \right| \right\}.$$

3. Conclusions

In this study, we have introduced a linear operator that is the Hadamard product of the most generalized Mittag-Leffler function along with the Lambert series, where the coefficients represent the function of sum of divisors. Hence, we investigated the inclusion conditions of the new operator into the well-known subclasses of starlike and convex functions of order λ . Finally; we have studied the Fekete-Szegő inequality

Acknowledgments

The author expresses his/her thanks to the people helping with this work, and acknowledges the valuable suggestions from the peer reviewers. The research has not received any fund from public or private entities.

Conflict of interest

The author declares there is no conflict of interest at any point with reference to research findings.

References

- [1] Rehman HU, Darus M, Salah J. Coefficient properties involving the generalized \mathcal{K} -mittag-leffler functions. *Journal of Mathematical Fluid Mechanics*. 2017; 9(2): 155-164.
- [2] Nisar KS, Purohit SD, Abouzaid MS, Qurashi MA. Generalized k -Mittag-Leffler function and its composition with pathway integral operators. *Journal of Nonlinear Sciences and Applications*. 2016; 9(6): 3519-3526.
- [3] Wiman A. Über den fundamentalsatz in der theorie der funktionen $E_a(X)$. *Acta Mathematica*. 1905; 29: 191-201. Available from: <https://doi.org/10.1007/BF02403202>.
- [4] Shukla AK, Prajapati JC. On a generalization of Mittag-Leffler function and its properties. *Journal of Mathematical Analysis and Applications*. 2007; 336(2): 797-811.
- [5] Salah J, Darus M. A note on generalized Mittag-Leffler function and application, far east. *Journal of Mathematical Sciences*. 2011; 48(1): 33-46.
- [6] Lóczy L. Guaranteed-and high-precision evaluation of the Lambert W function. *Applied Mathematics and Computation*. 2022; 433(C): 1-22.
- [7] Schmidt MD. A catalog of interesting and useful Lambert series identities. *arXiv:2004.02976*. 2020. Available from: <https://doi.org/10.48550/arXiv.2004.02976>.
- [8] Postnikov AG. *Introduction to Analytical Number Theory (Moscow)*. Heidelberg: Springer; 1971.
- [9] Apostol TM. *Introduction to Analytic Number Theory*. Heidelberg: Springer; 1976.
- [10] Kesisoglou I, Singh G, Nikolaou M. The lambert function should be in the engineering mathematical toolbox. *Computers and Chemical Engineering*. 2021; 148: 107259. Available from: <https://doi.org/10.1016/j.compchemeng.2021.107259>.
- [11] Robin G. Large values of the sum-of-divisors function and the Riemann hypothesis. *Journal of Pure and Applied Mathematics*. 1984; 63: 187-213.
- [12] Axler C. On Robin's inequality. *The Ramanujan Journal*. 2023; 61: 909-919. Available from: <https://doi.org/10.1007/s11139-022-00683-0>.
- [13] Choie YJ, Lichiardopol N, Moree P, Solé P. On Robin's criterion for the Riemann hypothesis. *Journal of Number Theory of Bordeaux*. 2007; 19(2): 357-372.
- [14] Salah J, Rehman HU, Al-Buwaiqi IS. The non-trivial zeros of the riemann zeta function through taylor series expansion and incomplete gamma function. *Mathematics and Statistics*. 2022; 10(2): 410-418.
- [15] Salah J. Some remarks and propositions on riemann hypothesis. *Mathematics and Statistics*. 2021; 9(2): 159-165.
- [16] Bombieri E. *The Riemann Hypothesis-Official Problem Description*. Clay Mathematics Institute; 2000.
- [17] Robertson MIS. On the theory of univalent functions. *Annals of Mathematics*. 1936; 37(2): 374-408.
- [18] Frasin BA, Al-Hawary T, Yousef F. Necessary and sufficient conditions for hypergeometric functions to be in a subclass of analytic functions. *Africa Mathematics*. 2019; 30: 223-230. Available from: <https://doi.org/10.1007/s13370-018-0638-5>.
- [19] Fekete M, Szegő G. Eine Bemerkung über ungerade schlichte functionen. *Journal of The London Mathematical Society*. 1933; 1(2): 85-89.
- [20] Duren PL. *Univalent Functions*. New York: Springer; 1983.
- [21] Darus M, Thomas DK. On the Fekete Szegő theorem for close-to-convex functions. *Mathematica Japonica*. 1998; 47: 125-132.